import java.util.Scanner;

public class Main {
public static void main(String[] args){
int choice = 0;
Scanner input = new Scanner(System.1in);

choice = input.nextInt();
Lever lever = new Lever(1);

Dial dial = new Dial(1);
Brush brush new Brush(9);

Agent agent = new Agent(lever,dial,brush);
while(choice != 0){
switch(choice){
case 1://Lever up
agent.getLever().leverUp();
break;
case 2://Lever down
agent.getLever().leverDown();
break;
case 3://Dial up
agent.getDial().dialUp();
break;
case 4://Dial down
agent.getDial().dialDown();
break;
case 0://Terminate
System.exit(0);
}

agent.dealSpeed();//Get brush’s speed
System.out.println(agent.getBrush().getSpeed());

choice = input.nextInt();



public class Lever {
private int pos;//Mifi

public Lever(){

}

public Lever(int pos){
this.pos = pos;

}

public int getPos() {
return pos;
}
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public void leverUp() {

if(this.pos < 4){
this.pos ++;
}
by
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public void leverDown(){
if(this.pos > 1){
this.pos --;

}

public class Dial {
private int pos;//%|JF

public Dial(){

}

public Dial(int pos){
this.pos = pos;

}

public int getPos() {
return pos;



}
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public void dialUp() {
if(this.pos < 3){
this.pos ++;
}

}
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public void dialDown(){
if(this.pos > 1){
this.pos --;
}

public class Brush {
private int speed;

public Brush(){

}

public Brush(int speed){
this.speed = speed;

}

public int getSpeed() {
return speed;

}

public void setSpeed(int speed) {
this.speed = speed;
}
}
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public class Agent {
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private Lever lever;

private Dial dial;

private Brush brush;



public Agent(){

}

public Agent(Lever lever,Dial dial,Brush brush){
this.lever = lever;
this.dial = dial;
this.brush = brush;

}

public Lever getlLever() {
return lever;

}

public void setLever(Lever lever) {
this.lever = lever;
}

public Dial getDial() {
return dial;
}

public void setDial(Dial dial) {
this.dial = dial;
}

public Brush getBrush() {
return brush;

}

public void setBrush(Brush brush) {
this.brush = brush;

}
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public void dealSpeed(){
int speed = 0;

switch(this.lever.getPos()){
case 1://fF1k

speed = 0;break;
case 2://[AlHK



switch(this.dial.getPos()){
case 1://Z%1
speed = 4;break;
case 2://%|/%2
speed 6;break;
case 3://%|/%3
speed 12;break;
}

break;
case 3://fKi#

speed = 30;break;
case 4://=k

speed = 60;break;
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}

this.brush.setSpeed(speed);



